
  

  lsB vkj- lh- ,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x½ 
tkap ijh{kk & 2021&22 

ch- ,- Hkkx& nks 
 fo"k; & fgUnh Hkk"kk 

le; % rhu ?kaVs                         iw.kkZad % 75 

uksV % lHkh iz”uksa ds mRrj nhft,A 
 

iz”u 1- **lR; ,oa vfgalk** ds laca/k esa xka/khth ds fopkj ij izdk”k Mkfy,A      15 

vFkok 

**nsgkr gh lPph lsok dk LFkku gSA** fcuksok th ds bl dFku dh O;k[;k dhft,A 

iz”u 2- **;qodksa dk lekt esa LFkku** fuca/k dk lkjka”k vius “kCnksa esa fyf[k;sA     15 

vFkok 

 **MkW- [kwcpUn c?ksy NRrhlx<+ ds ,d egku liwr Fks** MkW- c?ksy ds d`frRo ds vk/kkj ij bl dFku dh foospuk djksA 

iz”u 3- ifji= ds vFkZ dks Li’V dhft, vkSj ,d mnkgj.k nsdj le>kb;sA      10 
vFkok 

 fgUnh Hkk’kk ds fofo/k :iksa dh foospuk dhft,A 
iz”u 4- foRr vkSj okf.kT; dh Hkk’kk lksnkgj.k lfgr Li’V dhft,A       10 

vFkok 

 fizaV fefM;k vkSj bysDVªkWfud fefM;k dks le>kb;sA 

iz”u 5- vuqokn dh ifjHkk’kk mlds mn~ns”; crkrs gq, L=ksar Hkk’kk vkSj y{; Hkk’kk esa varj crkb,A   10 

vFkok 

   laKk dh ifjHkk’kk nsrs gq, mlds izdkjksa dk mYys[k dhft,A 
iz”u 6- lekl dk foxzg djrs gq, lekl dk uke fyf[k,A dksbZ nl      10 

 jkr&fnu] pdzik.kh] uoxzg] firkEcj] f=os.kh] izfrfnu] f=yksd] xtkuUn] uojkf=] pj.kdey] iapoVh 

vFkok 

 laf/k fdls dgrs gSa] laf/k ds Hksnksa dks mnkgj.k lfgr le>kb,A 

iz”u 7- laf{kfIr dh fo”ks’krk,a crkb,A 
vFkok 

 fuEufyf[kr fdUgh ikap ds laf{kfIr ds ewy :i fyf[k,A 
1- jk- lq- dk- 
2- xk- t- ek- e- cks/k 
3- N- x- 
4- jk- ls- ;ks- 
5- fo- fo- v- vk- 
6- fo- fo- 
 

 
 
 
 
 
 

 
 
 



  

  SETH R. C. S. ARTS & COMMERCE COLLEGE 

MODEL EXAMINATION 2021-22 

B. A. - II 

  (English Language) 

Time – 3 Hours                                M.M - 75 

Note: Attempt all questions. All questions carry equal marks. 

UNIT – I  

Q 1. Answer the following questions.  (Any 5)        15 

1. What do you mean by the phrase “All men are scientists”? 

2. What are epoch making discoveries were made in the field of mathematics in ancient India? 

3. Write a short note on Charak. 

4. What role do the satellites play in Communication? 

5. Which Indian Scientist is known as the father of plastic surgery? 

6. How can one know about the presence of pollution in water? 

7. What is Information Technology? 

8. What do you mean by inductive and deductive method ofreasoning. 

UNIT - II 

2(A) Read the following passage and answer the following questions in your own words   5 

 The brown bears live in very cold climates especially the north-western and central Himalayas and Bhutan. 

Emerging from their winter sleep in the spring they follow the melting snows up to their perpetual level. At 

this season and in the early summer they graze like cattle on the newly grown glass and spend much of their 

time turning over stones to look for insects or hunting voles and marmots which they dig out of their burrows. 

It is a time when food is not plentiful and even carrion may be eaten. When summer has set in individual take 

to killing sheep and goats and ponies, which are then brought graze. Later in summer or early autumn the 

bears come down to the lower reach. It is the fruiting season when berries and weld fruits are to be had in the 

forest, apricots peaches, apples, mulberries and walnuts in the orchards and buck wheat in the maize fields. 

Most of these fruits are taken from the ground. Much of their diet at this time is limited to grass roots and 

tubers.  

 Questions:- 

(i) Give a suitable title for the passage. 

(ii) In what two ways do the brown bears spend their time in early summer? 

(iii) Where do the brown bears live? 

(iv) During the fruiting season what are taken as food by the bears? 

(v) Give the words from the passage which means 

(a) Fruit garden (b) Coming out. 

VOCABULARY 

   (B) Give Synonyms for the following words.        4 

 Permit, Harm, Imitate, Sorrow 

   (C) Give the antonyms for the following         4 

 Conquer, Attack, Dawn, Away 

   (D) Make verb from the following noun          2 

 Food Blood 

UNIT – III 

Q 3. Write a report on “Blood Donation Camp” by NCC unit of your college     10 

OR 

 Write a report on ‘Air pollution” in your town. 

UNIT – IV 

Q4 (A) Expansion of Idea on any one in about 200 words        10 

(a) Knowledge is power (b) Honesty is the best policy. 

(c) Save the trees.  (d) Where there is will there is a way. 

 



  

 

 

  (B) Give noun forms of the following: 

 Suggest, Receive, Direct, Punish 

 

  (C) Frame the sentence and bring out the difference. 

 (i)  Sum  Some 

 (ii)  Right  Write 

 (iii)  Flaw  Flow 

UNIT – V 

Q 5. Do as Directed:  (Any 15)          15 

1. Kalidas was ---------- great Indian poet. (Insert articles) 

2. We ---------- our lunch an how ago. (Fill in the blank with suitable form of ‘have’ or ‘do’) 

3. I was given this award by the king ---------- (fill in the blank with possessive from) 

4. This is the man ---------- father was murdered. (use suitable relative pronoun) 

5. My bed is not very comfortable. Your bed is ---------- (use comparative degree of the underline word) 

6. She work all day. (Rewrite using the verb in the Present perfect or Present perfect continuous tense) 

7. Prachi went to bed. The telephone rang a little later. (Combine the pair of sentences using the Past perfect 

Tense) 

8. She will not succeed unless she ---------- work harder. (Put the verb in the correct tense of the verb) 

9. If I were you I ---------- not wait. (Put the verb in the correct form.) 

10. He eats a heavy lunch (Rewrite the sentence beginning with if) 

11. ---------- he be so foolish as to behave like this (Possibility) 

12. Were you punished by the teacher? (Change the voice) 

13. Elections are held in India every five years. (Change the voice) 

14. I came here ---------- my bicycle (Use preposition) 

15. Prachi is beautiful. Prachi is intelligent. (Combine the pair of sentences) 

16. I hurried. I didn’t want to be latte. (Combine the pair of sentences using “so that”) 

17. You teach. Do you enjoy it (combine using Gerund) 

18. She fed the baby. She made her sleep. (Combine using participle form.) 

19. Rhea is not hard working. She is not intelligent. (Combine using ‘nor’ or ‘neither nor) 

20. Mr. and Mrs. Khare stay ---------- a hill resort ---------- a month every year. (Fill in the blank with suitable 

preposition) 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

lsB vkj-lh-,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x-½ 
  tkap ijh{kk 2021&22 

ch-,- f}rh; o’kZ 
fo’k;& lekt”kkL= iz”u i= & izFke  iz”u i= dk uke & tutkfr lekt dk lekt”kkL= iw.kkZad 75 
&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&& 

uksV %& izR;sd bZdkbZ esa ls fdUgh ,d iz”u dks gy dhft;sA Attempt any one question from each unit. 

bZdkbZ 1 
tutkfr D;k gS\ tutkfr dh izeq[k fo”ks’krkvksa dh O;k[;k dhft,A 
What is Tribes? Explain the main characteristics of Tribes. 

vFkok 
tutkfr ,oa d`’kd lekt esa fHkUurk ,oa lekurk Li’V dhft,A 
Clarify the difference and similarities in Tribal Society and Peasant Society. 

bZdkbZ 2 
tutkfr; yksxksa dk oxhZdj.k le>kb;sA 
Explain the classification of Tribal People. 

vFkok 
fuEufyf[kr esa ls fdUgh nks ij laf{kIr fVIi.kh fyf[k;s Write short notes on any two of the following : 
¼1½ Hkkstu laxzkgd ,oa f”kdkjh (Food gatherers and hunters) ¼2½ ?kqeUrq (Nomads)  
¼3½ LFkkukarfjr d`f’k (Shifting cultivates)   ¼4½ nLrdkj (Artisans)  

 

bZdkbZ 3 
ukrsnkjh D;k gS\ Hkkjrh; tutkfr;ksa esa ukrsnkjh ds egRo dk o.kZu dhft;sA 
What is  Kinship ? Describe the importance of Kinship in Indian Tribes. 

vFkok 
tutkfr /keZ D;k gS\ tutkfr /keZ dh izeq[k fo”ks’krkvksa ,oa dk;ksZa dh O;k[;k dhft,A 
What is Tribal Religion? Discuss the main characteristics and functions of Tribal Religion.   

bZdkbZ 4 
tutkrh; fodkl ;kstukvksa dh O;k[;k dhft,A 
Discuss the Tribal development schemes. 

vFkok 
tutkfr vkUnksyu ds izeq[k dkj.kksa dh O;k[;k dhft,A 
Discuss the main causes of Tribal Movement. 

bZdkbZ 5 
tutkfr;ksa dh izeq[k leL;kvksa dk o.kZu dhft;sA 
Describe the major problems of Tribes. 

vFkok 
NRrhlx<+ dhs fo”ks’k fiNM+h tutkfr ij ,d fuca/k fyf[k,A 
Write an essay on special backward tribes of Chhattisgarh. 

 
 
 
 
 



 
lsB vkj-lh-,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x-½ 

  tkap ijh{kk 2021&22 
ch-,- f}rh; o’kZ 

fo’k;& lekt”kkL= iz”u i= & f}rh;    iz”u i= dk uke & vijk/k ,oa lekt iw.kkZad 75 
&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&& 
uksV %& izR;sd bZdkbZ esa ls fdUgh ,d iz”u dks gy dhft;sA Attempt any one question from each unit. 

bZdkbZ 1 

vijk/k dh lekt”kkL=h; vo/kkj.kk dh O;k[;k dhft,A 
Explain the sociological concept of Crime. 

vFkok 

vijk/k ds izR;{koknh fl)kar ds vUrxZr yksEczkslks ds fl)kar dh O;k[;k dhft,A 
Explain the Lombroso theory in the positivistic theory of Crime. 

bZdkbZ 2 

“osriks”k vijk/k ij ,d fuca/k fyf[k,A 
Write an essay on “White collar crime”. 

vFkok 

Hkkjr esa laxfBr vijk/k ij ,d ys[k fyf[k,A 
Write an essay on organized crime in India.  

bZdkbZ 3 

Hkkjr esa eknd nzO; O;lu dh leL;k ij ,d ys[k fyf[k,A 
Write an essay on problems of Drug-addiction in India. 

vFkok 

lkekftd leL;k D;k gS\ blds izeq[k dkj.kksa dh foospuk dhft,A 
What is Social Problem? Discuss its main causes. 

bZdkbZ 4 

n.M D;k gS\ blds izeq[k izdkjksa dh foospuk dhft,A 
What is Punishment? Describe its major forms. 

vFkok 

[kqys cUnhx`g ls vki D;k le>rs gSa\ blds mn~ns”;ksa dk o.kZu dhft,A 
What do you understand by Open Prison? Describe its objectives. 

bZdkbZ 5 

Hkkjr esa tsy lq/kkj ij ,d fuca/k fyf[k,A 
Write an essay on Prison Reform in India. 

vFkok 

U;k;ikfydk ls vki D;k le>rs gS \ Hkkjr esa U;k;ikfydk dh Hkwfedk dks le>kb,A 
What do you understand by Judiciary ? Explain the role of Judiciary in India. 

 

 

 



8 

1. y. wT-q} GfT yNlen Yia : 2021-22 

Iu-hf fiui (Political Thougth) Time:3 hrs| 

M.M.: 75 

Attempt all the five questions. One question from each Unit is compulsory. All question carry equal marks. 

-/Unt:1 

Discuss critically Pllato's theory of Justice. 
37T/0R 

What according to Aristotle, are the causes of Revoiution and how it can be countered. 

-2/Unit-2 

Examine the Machiavell's thought on religion and morality. 
eraT/OR 

Explain Social coutract theory of Locke. 

36-3/Unit-3 

Explain the Bentham'm view on Utilitarianism. 
37274T/0R 

T. H. Green is one of the Political Philosophers Evaluate. 

4/Unit-4 

4R1 7. ETETE (Individualism) 37era varaa (Liberalism) 
faaSET/TOEATHT TÝIT (Features and Criticism) y 

37eraT/OR 
8. FHITATE (Socialism) 372AT TTAT (Fascism) a fa9Trend /TAEATT 

yRierT (Features and Criticism) I 

1-5/Unit-5 

T9 9. ft ¥TT fHETT facemi iy 
Write a note on the 'Saptang theory' of Kautilya. 

372741/OR 

Explain Political ideas of Manu. 



y. -q ufq qrlei ¥rA 2021-22 

To-l XII Vu YIu-NAd (Comparative Government and Politics) 

Time: 3 hrs| J M.M.: 75 

Attempt all the five questlons. One questlon from each Unit is compulsory. All question carry 

equal marks. 

ybr-1/Unit-1 

Explain the powers of the House of the Lordsof Britain. 

3yerai/oR 

Discuss the powers and position of the British Prime Minister. 

I-2/ Unit-Il 

"American Senate is Strongest bicameral System in world" Discuss it. 

37r4T/ORR 

Describe the powers and functions of the president of America. 

F-3/Unit-il 

Describe the salient features of the Switzerland Constitution. 

37r1/OR 

Describe the composition and powers of Swiss Federal Legislature. 

T-4/Unit-Iv 

National People's Congress of china is the 'Highest Organ of State Power Critically examine. 

1/OR 

Explain the organization of Judiciary in China. 

FI-5/ Unit-v 

Describe the meaning, nature and scope of Coparative Politics. 

372T/0R 

What do you understand by Political Culture\ Describe its major types. 



  

  

 
  lsB vkj- lh- ,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x½ 

tkap ijh{kk & 2021&22 
ch- ,- Hkkx& 2  

 fo"k; & fgUnh lkfgR; ¼izFke iz”ui=½ ¼vokZphu fgUnh dkO;½ 
le; % rhu ?kaVs                          iw.kkZad % 75 

uksV   % lHkh iz”uksa dks gy djuk vfuok;Z gSA 

iz'u 1- fuEufyf[kr i|ka”kksa dh lizlax O;k[;k dhft,A 
 
¼v½ miy{k ds ihNs dHkh foxfyr u thou&y{; gks] 

tc rd jgsa ;s izk.k ru esa iq.; dk gh i{k gksA 
drZO; ,d u ,d ikou fuR; us=&le{k gks] 
lEifRr vksj foifRr esa fopfyr dnkfi u o{k gksA 

vFkok 
 oj ns! oh.kkokfnuh oj nsA 
 fiz; Lora= jo ve`r ea= uo 
 Hkkjr esa Hkj nsA 
 dkV va/k mj ds ca/ku Lrj 
 cgk tuuh T;ksfreZ; fu>Zj 
 dyq’k Hksn re gj izdk”k Hkj 
 txex tx dj nsA 
 
¼c½ [kksyrk b/ku tUe ykspu 
 ewanrh m/kj e`R;q {k.k {k.k 
 vHkh mRlo vkSj gkl gqykl 
 vHkh volkn vJq mPNqokl 
 vpfjrk ns[k txr dh vki 
 “kwU; Hkjrk lehj fu%”okl 
 Mkyrk ikrksa ij pqipki 
 vksl ds vkalw uhykdk”k 
 flld mBrk leqnz dk eu 
 flgj mBrs mn~xuA 

vFkok 
 l`tu ;s dkSu [kM+s gS\ cU/kq! uke gh gS budk csuke] 

dkSu lk djrs gS ;s dke\ dke gh gS cl budk dkeA 
cgu HkkbZ gk¡ dy gh lquk] vfgalk] vkfRed cy dk uke] 
firk! lqurs gSa Jh fo”os”ktufu Hkh izd`fr lqd`fr lq[k/kkeA 
 

¼l½ lcls m/kkj ekaxk lcus fn;kA 
 ;ksa eS ft;k vkSj thrk gwa 
 D;ksafd ;gh lc rks gS thou 
 xjekbZ] feBkl] gfj;kyh mtkyk 
 eU/kokgh eqDr [kqykiu 
 yksp] mYykl ygfjr izokg 
 vkSj cks/k HkO; 
 fuO;kZl fuLlhe dk 
 ;s lc m/kkj ik;s gq, nzO;A 

vFkok 
“kjn pkanuh cjlh 
vatqjh Hkj dj ih yks 
Å¡/k jgs gS rkjs 
flgjh ljlh 



  

  

 
 
vks fiz; dqeqn rkdrs 
vuf>i 
{k.k esa 
rqe th yks 
lhap jgh gS vksl 
gekjs xkus 
?kus dqgkls esa 
f>irs psgjs igpkusA 

iz”u 2- eSfFkyh”kj.k xqIr jk’Vª tkxj.k vkSj lq/kkjoknh psruk ds izeq[k dfo gSaA bl dFku ds vk/kkj ij xqIrth ds dkO; dk 
ewY;kadu dhft,A 

vFkok 
 lw;ZdkUr f=ikBh fujkyk dzkfUroknh dfo gSa Li’V dhft,A 
iz”u 3- lqfe=k uanu iar dks izd`fr dk lqdqekj dfo D;ksa dgk tkrk gS \ 

vFkok 
 ek[kuyky prqosZnh dh dfork,a jk’Vªh; Hkkoukvksa ls vksr&izksr gS bl dFku ij izdk”k Mkfy,A 
 
iz”u 4- fuEufyf[kr esa ls fdUgha rhu ij laf{kir fVIif.k;ka fyf[k, & 

1- Nk;koknh dkO; dh Hkk’kk 

2- lqHknzk dqekjh pkSgku dk okRlY; vkSj iz.k; Hkko 

3- vKs; dh izrhd ;kstuk 

4- ee/k dfork dh ewy Hkkouk 

5- v;ks/;k flag mik/;k; gfjvkSa/k ds O;fDrRo] d`frRo 

6- JhdkUr oekZ ds dkO; dk Hkkf’kd rRo 

iz”u 5- fuEufyf[kr iz”uksa ds mRrj nhft,A ¼dksbZ 15½        15 
1- eSfFkyh”kj.k xqIr dh fdUgha rhu jpukvksa ds uke fyf[k,A 
2- ubZ dfork dk “kykdk iq:’k fdls ekuk tkrk gS \ 
3- fgefdjhVuh ,ao fge&rjafxuh dkO; ds jpukdkj dk uke crkb,A 
4- ;qxkar fdldk dkO; laxzg gS \ 
5- vkaxu ds ikj }kj fdldh jpuk gS \ 
6- fdl dfo dks ,d Hkkjrh; vkRek ds uke ls iqdkjk tkrk gS \ 
7- *fiz; izokl* fdldh jpuk gS \ 
8- lIrd D;k gS \ 
9- vokZphu fgUnh dkO; ds laiknd dk uke fy[kksA 
10- ifjorZu “kh’kZd dfork ds dfo dkSu gS \ 
11- fujkyk us dkSu [k.M dkO; jpk gS \ 
12- Hkkjrh; lkaLd`frd ,drk ds izcy i{kikrh dfo dk uke D;k gS \ 
13- gkykokn ds tud dk uke crkb;sA 
14- fgUnh [kM+h cksyh dk igyk egkdkO; dkSu lk gS \ 
15- nqokZpy ds jpukdkj dk uke fyf[k,A 
16- “kCn f”kYih ds uke ls tkus tkus okys dfo dk uke crkb,A 
17- iz;ksxokn dk tud fdls dgk tkrk gS \ 

 
 
 
 
 

 
 



  

  

lsB vkj- lh- ,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x½ 
tkap ijh{kk & 2021&22 

ch- ,- Hkkx& 2  
 fo"k; & fgUnh lkfgR; ¼f}rh; iz”ui=½ 

le; % rhu ?kaVs                       iw.kkZad % 75 

uksV   % lHkh iz”u gy djuk vfuok;Z gSA 

iz'u 1- fuEufyf[kr x|ka'kksa dh lizlax O;k[;k dhft, %&        24 

¼v½ tkr ys tkr] Vds ls tkrA ,d Vdk nks] ge vHkh] viuh tkr csprs gSaA Vds ds okLrs czkEg.k ls /kksch gks tk,¡ 
vkSj /kksch dks czkEg.k dj nsa] Vds ds okLrs tSlh dgks oSlh O;oLFkk nsaA Vds ds okLrs czkEg.k dks eqlyeku] Vds ds 
okLrs fgUnw ls fdzLrkuA Vds ds okLrs /keZ vkSj izfr’Bk nksuksa cspsa] Vds ds okLrs >wBh xokgh nsaA Vds ds okLrs iki 
dks iq.; ekus] Vds ds okLrs uhp dks Hkh firkeg  cukosaA osn] /keZ] dqy] ejtknk] lPpkbZ] cM+kbZ lc Vds lsjA 
yqVk; fn;k vueksy eky ys Vds lsjA 

vFkok 

 lkap dgS rks iugh [kkrSA >wB cgq fof/k inih ikoSAA Nfy;u us ,dk ds vkxsA yk[k dgks ,dgw ufga ykxsa Hkhrj 
gksbZ efyu dh dkjksA pkfg, ckgsj jax pVdkjks /keZ&v/keZ ,d njlkbZA jktk djS lkS U;k; lnkbZAA Hkhrj L;kgk 
ckgj lknsA jktk djfgaa vey v: I;knsAA va/kk/kqan eP;ksZ lc nslkA ekugq jktk jgr fcnslkAA 

 
¼c½ cq>us ls igys “kek dh ykS HkM+d mBrh gSA gekjh ;knk”r Hkh rkth gks jgh gSA ,d ,d rLohj vka[kksa ds lkeus vk 

jgh gS] ge gkFkh ij cSBdj lSjxkg tk jgs gSaA vkxs&ihNs fgUnqvksa dk cs”kqekj etek gSA os ph[k&ph[kdj dj jgs 
gS fd vkye iukg ! tft;k ekQ dj nhft,A ysfdu ge lkQ dSls dj ldrs gSa \ nDdu dh yM+kb;ksa dk [kpZ 
dgka ls vk,xk \ ge dgrs gSa ------- rqe dkfQj gksA tft;k ugha gVsxkA os gekjs jkLrs ij ysV tkrs gSa gekjk gkFkh 
vkxs ugha c<+ jgk gSA ge xqLls esa vkdj Qhyoku dks gqDr nsrs gSa bu dec[rksa ij gkFkh pyk nksA 

vFkok 

 eq>s yxrk gS fd clar Hkkxrk&Hkkxrk pyrk gSA ns”k esa ugha] dy esa] fdlh dk clar ianzg fnu dk gS] rks fdlh 
dk ukS eghus dkA ekSth gS] ve:nA ckjgksa eghus bldk clar gh clar gSA 

 
¼l½ n.M dksi dk gh ,d fo/kku gSA jktnaM jktdks’k gS vkSj yksddksi /keZ dksi gSA tgk¡ jktdksi /keZdksi ls ,dne 

fHkUu fn[kkbZ iM+s] ogka mls jktdksi u le>dj dqN fo”ks’k euq’;ksa dk dksi le>uk pkfg,A ,slk dksi] jktdksi ds 
egRo vkSj ifo=rk dk vf/kdkjh ugha gks ldrkA mldk lEeku turk vius fy, vko”;d ugha le> ldrhA 

vFkok 

 “kknh ,d xgjh leL;k gS vki mlds lkFk f[kyokM+ ugha dj ldrsA eSa iwNrk gwa vki QSDVªh esa rks gj rjg dk 
foKku] dkuwu fof”k’V Kkusa yxkrs gSaA fQj D;k dkj.k gS fd thou dks ,sls ijekRek ds Hkjksls NksM+ fn;k x;k tk, 
fd mlesa vkneh dh lLrh&ls&lLrh vkSj fudEeh&ls&fudEeh “kfDr;ka gh flQZ dke esa yk;h tk,A vki dgrs gSa 
eSa vkSjr dks le> ugha ikrkA tuck] ;g lc dksjh ckrs gSa] ckrsaA le>us dh D;k t:jr gS \ e”khu dh ,d iqyh 
dks ukius tks[kus le>us ugha tkrh ¼L=h&iq:’k rks thou dh e”khu ds nks iqjts gS & nks 

 
iz”u 2- *va/ksj uxjh* le&lkef;d lanHkksZ dk thoar izglu gS leh{kk dhft,A     12 

vFkok 
 ml vejkbZ us jke&jke dgh gS* fuca/k dk lkjka”k fyf[k,A 

vFkok 
,dkadh ds rRoksa ds vk/kkj ij vkSjax tsc dh *vf[kjh jkr* ,dkadh dh leh{kk dhft,A 

 
iz'u 3- *eEeh Bdqjkbu* ,dkadh ds ewy izfrik| dh foospuk dhft,A      12 

 
 
 



  

  

 
vFkok 

 *usbZ ekuh dh ijr* fuca/k esa ijlkbZ th us ns”k esa QSys O;kid Hkz’Vkpkj ij rhu dVk{k fd;s gSa Li’V dhft,A 
vFkok 

 ,dkadh ds rRoksa ds vk/kkj ij *,d fnu* dh leh{kk dhft,A 
 
iz”u 4- fuEukafdr esa ls fdUgha ikap ij fVIif.k;ka fyf[k,A        15 

1- jkgqy lkaLd`R;k;u dh lkfgfR;d nsuA 
2- gfj”kadj ijlkbZ dh Hkk’kk “kSyhA 
3- Nk;kokn vkSj egknsoh oekZ 
4- NRrhlx<+h ukpk vkSj gchc ruohj 
5- vkpk;Z jkepanz “kqDy ds fuca/kksa dh Hkk’kk laca/kh fo”ks’krk,aA 
6- HkkjrsUnq gfj”panz dk thou ifjp;A 
7- “khyk dk pfj=&fp=.kA 

 
iz”u 5- fuEufyf[kr esa ls fdUgha iUnzg iz”uksa ds laf{kIr mRrj nhft,A      15 

1- *Hkkjr nqnZ”kk* fdldh ukV~; jpuk gS \ 
2- *thur* fdl ,dkadh dk ik= gS \ 
3- dzks/k fuca/k ds fuca/kdkj dk uke crkb;A 
4- *csbZekuh dh ijr* ijlkbZ th dk dkSu lk fuca/k gS \ 
5- *,d fnu* ,dkadh ds ,dkadhdkj dk uke fyf[k,A 
6- ve:n esa fdrus eghus rd clar jgrk gS \ 
7- esjh ;wjksi ;k=k* fdlus fy[kk gS \ 
8- calr vk x;k fdl izdkj dk fuca/k gS \ 
9- vkpk;Z jkepanz “kqDy ds fuca/k xzaFk dk uke crkb;sA 
10- gchc ruohj ds fdUgh nks ukVdks ds uke fyf[k,A 
11- *LVªkbd* fdlus fy[kk gS \ 
12- *v”kksd ds Qwy* vkSj dqVt tSls izfl) fuca/kksa ds jpf;rk ds uke fyf[k,A 
13- HkkjrsUnq jfpr **va/ksj uxjh** dk jpukdky fyf[k,A 
14- **eEeh Bdqjkbu* fdl izdkj dh ,dkadh gS \ 
15- jkgqy lkad`R;k;u ds tUe dk uke D;k Fkk\ 
16- vkids ikB~;dze esa dqy fdruh ,dkadh ladfyr gS \ 
17- *Byqvk Dyc* fdldk fuca/k gS \ 
18- fclk[kkjke vkSj lqanj yky fdl ,dkadh ds ik= gSa \ 
19- vk/kqfud ;qx dh ehjk fdls dgk tkrk gS \ 
20- izksQslj lkgc fdl ,dkadh dk ik= gS \ 

 
 
 
 
 
 
 
 
 
 
 
 
 
 



lsB vkj- lh- ,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x½ 
tkap ijh{kk & 2021&22 

ch- ,- f}rh; o’kZ 
vFkZ”kkL= ¼izFke iz”ui=½ lef’V vFkZ”kkL= 

le; % rhu ?kaVs                        iw.kkZad % 75 

uksV % lHkh ikap iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA  
Attempt all the five questions. One question from each unit is compulsory. 

 
bdkbZ & 1 

iz”u 1- jk’æh; vk; ls vki D;k le>rs gSa \ bldh /kkj.kkvksa dks le>kb;sA 
 What do you understand by Notional Income? Explain its concepts.  

vFkok 
fdUgh nks ij laf{kIr fVIi.kh dhft,A Write short on any two. 
1- gfjr ys[kkadu ,oa lkekftd ys[kkadu (Green Accounting & Social Accounts) 
2- vk; dk pdzh; izokg (Circular flow of Income) 
3- dhUl dk jkstxkj fl)kar (The Keynesian Employment Theory) 

bdkbZ & 2 
iz”u 2- C;kt ds rjyrk vf/keku fl)kar dh vkykspukRed O;k[;k dhft,A 
 Examine critically the Liquidity Preference Theory of Interest. 

vFkok 
xq.kd D;k gS\ xq.kd izHkko izfdz;k Li’V dhft,A 
What is Multiplier? Explain the multiplier effect process. 

bdkbZ & 3 
iz”u 3- O;kikj pdz ls vki D;k le>rs gSa\ O;kikj pdz dks fu;af=r djus okys mik;ksa dk mYys[k dhft,A 
 What do you understand by Trade Cycle? Explain the methods to control Trade Cycle. 

vFkok 
fdUgh nks ij laf{kIr fVIi.kh dhft,A Write short on any two. 
1- O;kikj pdz esa dhUl dk n`f’Vdks.k (Keynes view on the trade cycle) 
2- O;kikj pdz esa gs;d dk n`f’Vdks.k (Hayek’s view on the trade cycle) 
3- “kqEihVj dk uoizorZu fl)kar (Schumpeter’s theory of Innovation) 

bdkbZ & 4 
iz”u 4- gSDlpj vksgfyr ds fl)kar dh vkykspukRed leh{kk dhft,A 
 Critically examine the theory of Hecschers Ohlin. 

vFkok 
fdUgh nks ij laf{kIr fVIi.kh dhft,A Write short on any two. 
1- volj ykxr dk fl)kar (Opportunity Cost Theory) 
2- :i;s dk voewY;u (Devaluation of Rupee) 
3- Hkqxrku larqyu ¼”ks’k½ ,oa O;kikj larqyu esa varj (Balance of trade & Balance of payment) 
4- vH;a”k ,oa iz”kqYd (Quotas & Tariffs) 

bdkbZ & 5 
iz”u 5- varjkZ’Vªh; eqnzkdks’k ds dk;ksZa dh O;k[;k dhft,A 
 Describe the functions of International Monetary Fund. 

vFkok 
fdUgh nks ij laf{kIr fVIi.kh dhft,A Write short on any two. 
1- Hkkjr esa cgqjk’Vªh; fuxe dh Hkwfedk (Role of Multinational Corporations in India) 
2- fo”o O;kikj laxBu (W.T.O.) 
3- Hkkjr esa fons”kh O;kikj dh lajpuk esa ifjorZu (India recent changes in the direction of foreign trade) 

 
 



lsB vkj- lh- ,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x½ 
tkap ijh{kk & 2021&22 

ch- ,- Hkkx 2 
vFkZ”kkL=  

iz”ui=&f}rh; ¼eqnzk cSafdax ,ao jktLo½ 
le; % rhu ?kaVs                    iw.kkZad % 75 

uksV % lHkh ikap iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA  
Attempt all the five questions. One question from each unit is compulsory. 

bdkbZ & 1 (Unit-1) 

iz”u 1- fQ”kj ds ifjek.k fl)kar dks le>kb;sA 
 Explain the Fisher’s Quantity Theory of Money. 

vFkok (Or) 

eqnzk LQhfr D;k gS \ lekt ds fofHkUu oxksZa ij bldk izHkko fyf[k,A 
What is Inflation? Point out its effect on the different sections of Society. 

bdkbZ & 2 (Unit-2) 
iz”u 2- cSad nj D;k gS\ cSad nj ds ifjorZu dk ns”k ds m|ksx ,oa O;kikj ij D;k vlj iM+rk gS \ 
 What is the Bank Rate? What is the impact of changes in bank rate on country’s industries and business? 

vFkok (Or) 
fjtoZ cSad vkWQ bf.M;k ds izeq[k dk;ksZa dk o.kZu dhft,A 
Describe the main function of Reserve Bank of India. 

bdkbZ & 3 (Unit-3) 
iz”u 3- lkoZtfud O;; esa o`f) ds D;k dkj.k gS\ blds izHkkoksa dh foospuk dhft,A 
 What are reasons for increase in Public Expenditure? Discuss its effects. 

vFkok (Or) 
 vf/kdre lkekftd ykHk ds fl)kar dh vkykspukRed O;k[;k dhft,A 
 Discuss critically theory of Maximum Social Advantages. 

bdkbZ & 4 (Unit-4) 
iz”u 4- djnku {kerk fdls dgrs gSa\ djnku {kerk dks izHkkfor djus okys rRoksa dh foospuk dhft,A 
 What is Taxable Capacity? Discuss the factor affecting taxable capacity. 

vFkok (Or) 
djkjksi.k ds izeq[k fl)karksa dh foospuk dhft,A 
Discuss the various canons of Taxation. 

bdkbZ & 5 (Unit-5) 
iz”u 5- lkoZtfud _.k dh ifjHkk’kk nhft,A blds mn~ns”; ,oa egRo dks crkb;sA 
 Define Public debt. State its objectives and importance. 

vFkok (Or) 
lkoZtfud ctV dk foLr̀r o.kZu dhft,A 
Explain the Public Budget briefly. 

 
 
 
 
 
 
 
 
 


